BHAVANS SCHOLARSHIP-2020-21 CLASS VI
QUESTION OPTION _1 OPTION 2 OPTION 3 OPTION 4 ANSWER
1|/The word ‘honesty’ is ..............
a collective noun an abstract noun a proper noun common noun OPTION_2
2|. My book is (good) than yours.  (Fill in the blank with the correct form of the adjective
given in the bracket) good better best gooder OPTION 2
Replace the underlined words with appropriate pronoun. Her Us
3| My aunt always gives my little brother and me a jar of cookies when we visit her.
We You OPTION_2
Choose the correct collective noun.
4 H
Amit and I ordered a large of carnations for Grandma on her birthday. Orchestra Orchard Bouquet erd
OPTION 3
S|Fill in the blanks with the correct determiner. Enough A lot Any Many
If we had been a little more careful, we could have saved money. OPTION_1
6
you work hard, you will not pass the examination Unless Until If Whether OPTION_1
v Name the figure of speech (poetic device):  “Variety is the spice of life. personification metaphor simile alliteration
OPTION_2
8 The predecessor of one million is 1000001 999999 9999999 1000000
OPTION 2
9 Add the sum of [ (-5) + (-7) Jto [3 = (-9)] 24 0 9 4
OPTION_ 2
10 The number 8299529 when rounded off to nearest ten thousands place is 82,90,000 82,99,500 83,00,000 82,00,000
OPTION_3
11 The successor of -111 is -112 -110 -10 -111
OPTION 2
12 Which of the following is not equivalent to 36/54 2/3 18/27 9/18 72/108
OPTION_3
13 Out of a salary of Rs 3600, Pooja spends Rs 1500. The ratio between her income and savings is
12:7 12:5 2:3 4:5 OPTION_2
14 Sania is x years old. Her mother’s age is 10 more than twice her age. How old is the mother ? 10x years 2x+10 years 2x-10 years x+10 years
OPTION_ 2
15 How much is 1/4 of the sum of 260 and 64? 16 65 81 324
OPTION 3
16 Which number is evenly divisible by 7?
672 673 671 674 OPTION_1
17 Which one of the following is the SI unit of length ? Metre centimeter millimeter kilometer
OPTION_1
18 Name of the joint which is present between thigh bone and hip bone. Hinge joint fixed joint ball and socket joint pivotal joint
OPTION_3
19 Phosphorus Todine Iron Calcium
Name the mineral whose deficiency causes goitre. OPTION 2
20 Name the deficiency disease caused due to the lack of vitamin C. Marasmus scurvy night blindness rickets
OPTION 2
21 Asteroids are found between the orbits of ...................... Earth and Mars Venus and Earth Mars and Jupiter
Jupiter and Saturn 4 OPTION 3
22 The property which forms the basis of sieving difference in weight difference in colour difference in shape difference in size
OPTION 4
23 Shadow is formed due to
Parallel propagation of light  rectilinear propagation of light  reflection of light Light is passing through the object |OPTION_ 2
24 Vitamin that helps our body to use calcium for bones and teeth. Vitamin B1
Vitamin A Vitamin C Vitamin D OPTION 4
25 Which one is a magnetic material? Cobalt,
copper , silver wood OPTION _1
26 In India, the government is elected for a period of .......... years. 2 3 6 5
OPTION 4
27 3 2 1 5
Earth has types of motions OPTION 2
28 Where was the Indus Valley Civilization first noticed? Harappa and Mohenjodaro =~ Dholavira Lothal Ropar
OPTION_1
29 Who appoints secretary of gram panchayat? Government Ordinary person Election commissioner  Landlord of village
OPTION_1
30 Hindi Prakrit Tamil Malayalam
was the language used by the Buddha to spread his message. OPTION 2
31 Torrid Zone lies between the latitudes and Tropic of Cancer and Tropic of Arctic Circle and Antartic circle Tropic of Cancer and Arctic Circle  Tropic of Capricorn and |
OPTION _1
32 Sama Veda Rig Veda Yajur Veda
Which is the oldest Veda? ............... Atharva veda OPTION_2
33 East-West,
. In a compass, magnetic needle always points towards------------ direction. North-West North-South South-East OPTION_3
34 Hydrosphere
The solid portion of the earth on which we live is termed as -------------- Lithosphere Mesosphere Troposphere OPTION 2
35 Beijing Shanghai Wuhan (d) Tiajin
The first case of novel coronavirus was identified in ....................... OPTION_3
36 Nepal has announced the revised height of which famous peak as 8848. 86 metres? ......
Mount Everest Mount Kanchenjunga Mount Makalu Mount K2 OPTION_1
37 Who is the fourteenth President of India? Narendra Modi M. Venkaiah Naidu Ram Nath Kovind Om Birla
OPTION_3
38 Who is the first woman to became the Vice President of America? Hillary Clinton Michelle Obama Kamala Harris Condoleezza Rice
OPTION 3
39 Kanungo is the other name of
Tehsildar SHO Revenue Officer Patwari OPTION 4
40 How many 5’ s are there in this series which are followed by 5 but not preceded by 5 ? ) | 5 4
25556567595404553553556558 OPTION_3
41 Malaria : Mosquito :: ?:? Poison : Death Medicine : Disease Rat : Plague Cholera : Water
OPTION 4
42 Find the wrong number in the givenseries 8 9 21 69 287 1450 9 21 69 1450
OPTION 4
Choose the alternative that will continue the number series below.
43 11,13, 19,23, 25, 27 29 31 33
OPTION_2
44 If in a certain code DEAF is written as 3587 and FILE is written as 7465, then IDEAL will be written as 43568 43586 63548 48536
OPTION 2
45 1f 11 x 11 =4;22 x 22 =16; then, 33 x33=............ 9 12 20 36
OPTION 4
Seven persons A,B,C,D,E,F and G are sitting in a row of chairs facing the same direction, not necessary in
46 the same order. It is known that there are three persons between A and B, three in between C and D, and E C D B
three in between F and G. Who is sitting in the middle of the row? OPTION _1
47 1f 13" March in a year is a Friday, then on which day of the week will 13" January of the next year falls? ~ Wednesday Friday Sunday cannot be determined
OPTION _1
48 If 'A' means add, 'B' means subtract, 'C' means multiply, 'D' means divide, then what would be the answer of 13 11 3 9
OPTION 4
49 2,4,3,1,5 2,3,4,1,5 2,4,3,5,1 2,3,4,5,1
Amongst the given responses choose the meaningful logical series. (1) College (2) Infant (3) Child (4) Schoc OPTION 2
50 Kathir is senior of Ganesh. Ganesh is senior of Appu. Appu is junior of Raju. Raju is junior of Ganesh. Who Ganesh Raju Kathir Appu
OPTION_3
51 Who became the first Indian to win a Formula 2 race? ............. Arjun Maini Mahaveer Raghunathan Aditya Patel Jehan Daruvala
OPTION 4
52 People always that when a dog you , you should stop running. Said , chased Says , chased Say, chases Are saying , are chasing
OPTION_3
53 Leaf venation and type of root is correctly paired in parallel venation, fibrous roots parallel venation, taproot no relation exists in leaf veireticulate venation, fibrous roots
OPTION 1
54 20 people shake hands with each other. How many hand shakes will be there in total 190 200 20 40
OPTION _1
55 How many numbers between 1 and 100 are divisible by 4? 25 45 24 15

OPTION_3




